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1. �×��iCÍ/I�^2ã3F��X1, X2, X35½�3FûiT�ûÒ, ê
�X(1) ≤ X(2) ≤ X(3)
Í5�Ù����OE(X(2))CVar(X(2))�

2. 'X,Y
Þ}ñÝU(0, 1)5µr.v.’s, �Z = XY��OZ�p.d.f., ¬�JE(Z) =

E(X)E(Y )Ý@Wñ�

3. ¹�!`7V×2ÑÝ10-{JC×2ÑÝ50-{J, à�Þ{J!`�¨Ñ
«-�c��O��c`, 10-{J�¨Ñ«ÀgóÝ�TÂ�

4. ¹�}ñ27V×�¨Ñ«^£
p�Y�, 0 < p < 1��Xn��ÿÕ=�ng
�¨Ñ«, Xm�7Vó, n ≥ 1��JE(Xn) =

∑n
k=1 p−k

�

5. '(X,Y )�Ð)p.d.f.


f(x, y) =
1

2π(1− ρ2)1/2

(
1 +

x2 + y2 − 2ρxy

1− ρ2

)−3/2

, x, y ∈ R,

Í�|ρ| < 1��O

(i)X, Y�\j5µ, ¬¼�Î£×ð�5µ;

(ii)��Y = y, X�f�5µ�

6. }ñ27VÞ2ÑÝ{�, à��¨Ë{��Fó8!-�c�7VÄ��, Ë
{��Fóõ
7�gó, |X��, Ë{��Fóõ
5�gó, |Y����
O

(i)X�5µ;

(ii)X + Y�5µ;

(iii)��X + Y = 10, X�f�5µ�


